SPRINFORS

LLlapHUpbI yrnoBbie € 3aXXMMOM (OLMHKOBaHHasi cTarb)

SPHERE@S - A MX
<l |
=B= ‘
. MXx1

Ref. Pasmepbl  (mm) Ref Pasmepbl  (mm)

No | A | B| MX | D| MX1 No | A | B | MX | D| MX1
KOO1| 17 | 10 | M5x0.8 | 10 | M5x0.8 Ko14 | 20 | 10 | M6x1 10 | M5x0.8
K002 | 17 | 10 | M5x0.8 | 11 | Méx1 Ko15| 20 | 10 | M6x1 11 | M6x1
K003 | 17 | 10 | M6x1 10 | M5x0.8 Ko16| 21| 10 | M5x0.8 | 10 | M5x0.8
K004 | 17 | 10 | M6x1 11 | M6x1 K017 | 21| 10 | M5x0.8 | 11 | M6x1
1130 | 18 | 10 | M5x0.8 | 10 | M5x0.8 Ko1s| 21| 10 | Mé6x1 10 | M5x0.8
K00o5| 18 | 10 | M5x0.8 | 11 | M6x1 Ko19| 21| 10 | M6x1 11 | M6x1
Koos | 18 | 10 | M6x1 10 | M5x0.8 1135 | 22 | 10 | M5x0.8 | 10 | M5x0.8
K0o7 | 18 | 10 | M6x1 11 | M6x1 K020 | 22 | 10 | M5x0.8 | 11 | M6x1
K008 | 19 | 10 | M5x0.8 | 10 | M5x0.8 1127 | 22 | 10 | M6x1 10 | M5x0.8
Koo9| 19 | 10 | M5x0.8 | 11 | M6x1 K021 | 22 | 10 | M6x1 11 | M6x1
Ko10| 19 | 10 | M6x1 10 | M5x0.8 1136 | 22 | 10 | M5x0.8 | 10 | M6x1
KO11| 19 | 10 | M6x1 11 | M6x1 1137 | 22 | 10 | M6x1 10 | M6x1
K012 | 20 | 10 | M5x0.8 | 10 | M5x0.8 1139 | 18 | 10 | M5x0.8 | 10 | M6x1
K013 | 20 | 10 | M5x0.8 | 11 | M6x1 K022 | 18 | 10 | M4x0.7 | 10 | M4x0.7




	Страница 1

